P
#

w4 .

YLLK -

3

b S N S S S S S S s N S S S S S S S S S S N N S M S S S S SO S N N M S S S S

s — - = /g N Sy
1543

L Sohel—f8, i —aa .

PPPPPPPPPPPPPDPDPPD

Kk e @ T HHE 4 AR TFH BB TFEEC 4 6 H
A
2. 24+5=( ) veenns ( ) AR ( ) X A A
( ) o
3. BB T4 09 455
T e ( )
( ) e 5/38
35
3 eeeees ( )
417 [l A 3 R A N TR C AN\ H

( IR,

5. 5 B RAEHUL?
(X657 (. H)X7<43 () X5<I38
( )X4<381  ( HX5<C26 () X6<39

6. ZEZINA 18 X%, 74 5 A/ & B8 A /NI R 5r
C OLBHFC D

(D #Er, (125
=

L fE— DA RBABREE P BREUE 7. 02 8. REERKZE 7.

( )
2. 70-9=8:+--+-2, ( )
3. ( ) X430, 55 H i KEEIH 7, ( )
4, 39+5=8ee01, C
5. 5 AfnA 31 K2 4 M EME 4 X, C
6. 60 M T B9 MR- HE 6T C

(D ##F. (1040

&)

[S)

1. FHEEECR L RLL 6 B RRIMEC ).,
A. 24 B. 34 C. 44
2. HaRIEHA 35 N BG4 6 N, 6 g4 ( )
A. A B. Ak C. T WG 65 A i A
3. | 6= | EE—A [HATREEIC ).
A. 9 B. 8 C. 6 D. 5
4o TEAARBUNE R E L BRI RIS ).

A. K B. /1 C. Jik
5. FEER P ABE3MEC ),
A. 33—+4 B. 275 C. 38=+7
B, (20 %)
Tl BMEEE N SR
70+23= 6 X7= 52—23= 40-+-5=
28=—T7= 18+82= 64 -—8= 32—4=



30+5= TXT7= 80—26= A42=6= 2. WALSKT 20 RAEAT B 4 KA — A, ]l UULDN A7 &

63+—9= 36—4= 8§ X 9= 81+-9= JLAKAE?

2. %R,
gﬁ« <8 ) <8 3
& IR iSSPy e
B B 5S4
—J@ﬂ(} <\ 7<S\ 3. kk 9 TR ,7'</\ 7 raeg 50 I N 5 [m) l/\ N /l\ kk?
igm \\/’% 4-3 @,@ %%ﬁié?ﬁﬁ? ERORCH T JG» i £ ] LI SE 270 ST
& 4 84 &7 T £Z/I07

(R BRIEBE, (32 )
O
1. B8E,
(D) Z“HERA 29 AA2pLEE, 207 ER L4
4.

2 SE30BURA 4B

< 0 BOERABEN? N @6

v

A2
(2) B3k H HHLE 72 B A 4 55 A V5T 5 3 e § A~
BT EHULA LA
5. HRBRZL K 28 K. TR kL TR AR 3 B A K £
% K R K 7

55



